Keller_A-5.0

+7.59 = +418.17 m.i.M
S

Dachrand Haus A
+7.49 = +418.07 m.4.M

0 A 0 T A T g A o u.u_u.lA

aa

=1

=

=

==

==

=

=

==

=

=

=

N
(o0}

+7.03

+6.73

Bodenaufbau Keller ??

oo
[(s}{e]
0064
00§94 .
ees8 B
<<t oeL w
© a
3388 =
FWES @
<N
-2 <t
p oA ay
C 38 g
0 g2 S
5 .
Eds =<
0 3 E O
g E8 El
() g
c
- @
) € 5
—) 5
mg s
m 8
&
=
>
2
E m
g <
3 a
T
© L
&» 5
o £ m
3
— g <
B
S5
= ©
8§59
= 0
EQT g
E<pg
5
Eg”ﬁ &
E Sg )
I = X > 2 @
Q(GJQ; @ U
n 2 S «—
<
C
o D
5 T
)
e I 4
o [
=
5 O
(s)) 1
Ql <
< |
NE
T ule >
grél_
©
a2
. .
3 g of
I Q2 iz 0
g 3 %z O
3 O |z
20z <




	408.2 Typ_A-04_Keller_A-5.0

